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Write the answer:

4 +6=

5

24 +6=
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7+6=

V4

27+6=
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Write the answer:

3+3+4+4=2
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7+7+8+8=
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Sammy has 6 bannans \
8 apples and \

2 lemons \

|

Write a number sentence to work out how many cars he has altogether

\
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A
N

"Sammy has 7 bananas AN

9 apples and - B B

3 lemons \
Y
\
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4

Write a number sentence to work out how many cars he has altogether
a?

4

4

Sammy has 8 bananas , Sy \
& ' ' v ) i o
\ 6 apples and \

D
4 lemons
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%\\@ \
Put your finger on start. %\\@
Move your finger up 2 squares then across 4 squares. %\\* |
Tick the box your finger lands on. | %\
%\ %\
2 AN
%\ Start é\\@
N N\
Put your finger on start. | %\\@
Move your finger up 3 squares then across 2 squares. ’*‘*\\
Tick the box your finger lands on. ‘\\1‘
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N
N
N \

//,

*\\ ANUHNRRRRRRRRRRRE



NI AN

J

.

7

Y

N\

/«w

5

¢24bW NoA upd ¢ Jo sias Aubw moH

S3[2d12 éq.t 1D 3001

¢23DW NoA upd 4 Jo sias Aubw moH

$2|3d12 3Yy4 4D 3007

\\\\\\\\\\\\\\\\

oy

0

4

&

Yo V4

J

57

%

g &

&P

-ﬁ//{% xﬁ//w '@//A%

7

G2

YOOI

g

&

/‘W

////



A\

D
A N
’ D
N\
The line shows the lengths of some Models @
D
N

£

Two of the models are the same length.

Y

Use a ruler to find them.

Tick them.
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Libby puts 19 buttons on the tables.

She hides some of the under his hand.

q44

How many buttons is Libby hiding?
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Libby puts 13 buttons on the tables.

She hides some of the un,der_' his hand.
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How many buttons is Libby hiding?
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Favourite Crisp Flavours

HMumber of Peopla

Flavour of Crisps
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Bacon
‘Worester

Sauce

How many people ate cheese and onion?

What crisps did 4 people eat?

Which two flavours add upto 12?

Which is the most popular flavour?

Which the least popular flavour?
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Write the correct humbers in the boxes.
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Half of 16 is

Double 14 is

Half of 18 is

)4

7

Double 11 is
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Two of these sentence are correct.
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A cubes faces are all the same.
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Tick them.
\
AN

ﬁ,

\
\
\
\
N\

u}

27/

A cube has 3 faces.
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A cube has 12 edges.

mé‘u

\
\
N
\

i

V4

&

\
N
A
\

4

5

\
_
§
i\\\\\\\\\\\\\\\\\

"



%/l

Vo

&

4

5

4

//ﬂzr

&

Vs

7

4

&

Vs

o4

P OIIY

&

//

'ﬁ//’ﬁ//#//ﬁ.@//&?%/

//‘w

&

'X0q U4 Ul JIMSUD 499,402
Y4 LNO JOM 04 MOY 211D} MOYS

ISP S

&

59

g

&

‘BUOUM S| J2MSUD S 214D

Y4

I2 = JoMSUD 2y} S126 211D

Vo

=61 - 96

“SIY4 04 J2MSUD 2yl Lho S{IoM 211D}

\

,/%/



\

//

4

Look at The Table

Object

lengTh

crab

o 20cm ‘

Ibucket

PPPI IS

[17em

&

spade

4

’ 10cm

ball

115¢cm

het

6cm

(i

g

(5

2/

/////

Which object is half of the crab?

The ball is longer than the net.

How much longer?
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Four shcks fit along one side of this book.
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Estimate how many sticks will fit around the book. ‘\
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